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Robert and Jason were born on the exact day, but not in the same year.
Their ages are shown in the table below.
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7) When Robert was 9, how old was Jason? ______

8) When Jason was 21, how old was Robert? ______

9) How much older is Jason than Robert? ______

10) Which choice best explains the rule for this table? (Circle One)

a.  Add 4 to Jason's Age to find Robert's age.
b.  Subtract 6 from Jason's Age to find Robert's age.
c.  Subtract 4 from Robert's Age to find Jason's age.
d.  Add 4 to Robert's Age to find Jason's age.
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Robert and Jason were born on the exact day, but not in the same year.
Their ages are shown in the table below.
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Robert's Age

Jason's Age

7) When Robert was 9, how old was Jason? ______When Robert was 9, how old was Jason?     13

8) When Jason was 21, how old was Robert? ______When Jason was 21, how old was Robert?     17

9) How much older is Jason than Robert? ______How much older is Jason than Robert?     4

10) Which choice best explains the rule for this table? (Circle One)

a.  Add 4 to Jason's Age to find Robert's age.
b.  Subtract 6 from Jason's Age to find Robert's age.
c.  Subtract 4 from Robert's Age to find Jason's age.

0d.  Add 4 to Robert's Age to find Jason's age.


